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COMMERCE

Paper : BCMO100104

(Business Organlsatlon qnd lWanagement )
' Flttt Marks : 6(i

Time : 2Yz hours

The figures in the margin lndlcate
full marks for the questions.

Answer either in Engtish or in Assamese.

I 1. Choose the correct option of the following :

| 1x8:8
I 65,6Rs< "K {ft$ fu< <tR €fre<t :

(t) What is the primary advantage of the
Brick and Click' Model ?

t+ qt+ Es'wfr< anfrs lFqrfi fre
(a) No need for physical space

+lfr-$ qF< em$Brftr-st aR

(b) Offer flexibility to customers in
terms of shopping mode



slqs q?FFl-s 4-T "ffi{ 6S-q-E qTfu-st
effi 5-6q

(c) Completely online

ry.tfqc{ w{-{.trr

(d) No digital presence needed

eeFE EqeB< amrsr{ ffi
Which of the following is not typically
a step in strategic planning process ?

frxftRs mFfr1 qt{<6tp rfi,m1s q6$q-+
afuH< ..qA 

'frrf{F"t Tq{?

(a) Environmental scannirig

qRc:Trf arfri

(b) Formulation of strategr

In the communication process, who is
responsible for decoding the message ?

c{tril({trl sfur.lE <lb1&t &c. rs s-{i< aRs
$'l-< €'r<s2

(a) Sender

CEFI?F

(b) Medium

nT{]n

(c) Receiver

aq.mlfr

(d) Feedback channel

qqq-s'KT{ cDT;d-q

(iu) A self-confident leader whose
personality and action influence people
to behave in certain ways is called

.qqq qlg'Rtlfr c{q {<t <IeE \TKr $r€
Tqtsr{s fiffi qu<q sR-tE efsffi\o $-(< Fds
vqs $ffis 6t-a q{q< 6-otTfr 1$ TKt q-q?

(a) Participative leader

qffi 6as1

(b) Charismatic leader

qmifu qGv< o-ot
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(iii)

(ii)

ffi"rq< 1fi-+<t
(c) Execution of employee

performance reviews

$6R< sq.fu fuer< <iv-<t{d

(d) Strategr implementation

d-.fe< <lg-{ls{
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(c) Autocratic leader
qsdt c-sr

(d) permissive ieader
q-Nfrqt{-s 6rot

(u) Which of the following is not withinthe formal process of cJmmu.ri."iio, a
frcrrs m.ffit qwn< qI$Tfr_s aexr< Frca_s
drl_c<?

(a) Encoding

qirsGs-q"f

(b) Interpreting
qqf qsfr

(c) Decoding

q(scslq.t<

(d) Feedback

eqffi< TsN\e=

(uil The plan to achieve overall
organisational goals is called
qisIb;K q]TAs q$l w6{< <rc< sRt "I,R$ETTfrct]B c$-rdrtl< at<r 1w.t* r
(a) Strategic plan

e+-q"l{ qRs_q_{
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(b) Tactical plan

cfi-"rqao ,rR$-q-{t

(c) Operational plan

stt'${ftr "iRsq-{t

(d) Standing plan

w{Et{ qR$-qrf

(uiil Motivation is a stimulation of mind
under the management function of

+t'cer<m qn ${fr.s Oqq'rq<f,s futr4 frmB
mElbt tfuTq{rr olt'{ q-@,

(a) Directing

Mqqi< st{
(b) Organising

qirib{< $'t{

(c) Controiling

firsq< +t{

(d) Co-ordinating

q:r8-< $t{
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(uiii) Organisation where expert assistance
is provided to the line managers are

Xtih, {b ?<R.s "ffiDF[s ]r$-frE R6"RE<
qaT-s Rtcrit{t En 6ftKK r<q
(a) Line organisation

f<fro xr6{
(b) Functional organisation

frilEs xrrh
(c) 'Line and staff,organisation

f{R-$ q$ sff qpft{

(d) Project organisation

ET-q xrt-&[

Write short answers on
srx/

the following: (ang
2x6=12

Write briefly ttuo techniques commonly

used in the decision making process.

fiHs dq-t afu qr({ <Kqr< R'rn fildflfr
r((slq G'q t

(iit) Briefly state the relationship between

planning and controlling in
management.

qRoTq-{ls 4R$-{-{t q$ fiT-qf{ qrq-{ T""16
q((s-c'l <l'HIt m-{ r

List three essential trait of an effective

leader.

qw{ sfffi cqsrc frfqttqqw ?(FtE

Elfr-$EB $-{I I

Write the main features of Theory X.

\58 x-< Xr t<FrEqXq fr<n r

Mention the problem of dual
accountability in matrix organisation.

crfrs q(at5qs FRE ffiq apqq-sm qnmqTq<

Brs{ s-{tr
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(it)

(iu)

(u)

(ut)

2.

fi.-* RRrq1q< €"1-<E DT €E< fr"fi s ffutrqt
wEt)

(i) Why do companies prefer for
franchising ?

mnqtfiqTcq'@sE&(, frt <tqfi or<z
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(ui! List out at
managerial
necessary.

least two
control is

areas where
considered

'ffuTdm< fiaqq qmrfiT lB W $n"1-6s€

1fimwOm{o-+r
(uiii) Creativity in decision making.

fratu erq6p Iqrfrqg1 I

(tx) What is virtual orgianisation ?

vt<Fqe qier}q ft.r
(x) What is work from home ?

sFr "m $w qm fre

Answer ang four of the following :Sx4=2O

(i) Explain the concept of strategic
planning

cfi'rqrrs ,fR$-qql< {K6[ TJT"g^t clt I

(ii) Define 'bounded rationality,and its role
in decision makingl

'fiq-jq {fu<tqk rwt fi$ ws fus eRqs
trre vnot <lrqil $-<r r
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(iil What are the three core elements of
delegation of authority ?

s:rot ersflTffi frffi71n E"mnn ftr
(iu) Discuss the factors that can affect an

individual's motivation in the
workplace.

str€.r= qq-{ <l&< w{ceK.flE qsFr cqatl< q<l

$r{s cs?t'F RrrT qt@iffi 4-4t I

(u) Explain thd steps in decision making.

finrg aq"t $-{\5 q<q-ri{ sft-<q5n11 'lqcsqr{E
<ilq]t $-{ I

(ul What is the laissez-faire or free-rein
leadership style ? In what type of teams
or setting would this leadership style
be most effective ?

'Laissez-faire' C{YE ffi ft ? mF <?t6K E-f,

<t afo3qs et cyq ffi {-{fi$ nr{-ofr qk I
Explain Matrix organisation structure.

Matrix q(r6F-s rfltRrbt <it?ft n.{t I

Why is informal organisation no less
important than formal organisation ?

(uit)

qaItTF$ q('6{ fu wt1$rfr-$ {(a}:qsts ${
s$q1{1fr <{r qq3?
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firHB futrqt narcUs< fr{r :
(i) Discuss in detail the difference between

micro, meso and macro environment
in business.

Tl{{tl-< {Q, 9.5'qr$ {qq {Rr+.R Tl.qs cls.l

"ltcl$j <qER qf6qTD_{ s_fl I

(iil Elaborate on the four pillars of corporate
socia-l responsibility. (Economic, legal,
ethical and phitantrophic obligation)

fiata.s- Tl$e_$ qlT<q_sK nffiE{E w< Rr(T
M\s-\r-k< <n?trt S-$ i (qqfurBo, q.ffi, he"qis n4ftq 4rRY)

(iit) Discuss the role of IT and social mediain communication in business
organisation.

<l^<qH xsfbi\r_ EcB aTfu qr+ q1qf&_$ rtsjT<
6{trftcrfrt{ ffi.q,e_ fr Vfr-s-f qrcq ffi {_q_6e_
El-CqIE{t s-{I I
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(iu) What arc the some potcntial failure
reasons and success factors for
business process rc-engineering ?

<rilTm Efrrrt fF<-ffi-ftc<on {sE[ <]dsx

s'Kq qf$ sFqEf< Eemnn ft ft t
(u) Evaluate the importance of work-life

balance in todaY's corPorate
environment.

<ETI4-< S"16<6 "[<r{{s sn-6K{ eFmFU-<

e$q{ {{1ffi ffi1
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4. Answer two of the following :
ang

7Ox2=2O


